oh& A A 5(x + 6) = 3(3x + 2) ©] ShE Fstefet,

5(x+6) = 3(3x + 2)
5x+30=9x+6
5x—9x=6-30
—4x = -24

T x=6
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2x+ 6 = 30 — 10x
2x+10x =30-6
12x =24

L =2
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¥ 102 F31H,
bx—12=2x+3
5x—2x=3+12
3x=15

T x=25H
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®y:2x+2 ®y=2x—1 @y:x+2
@ y=x-2 @y:x—i—l
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Dx=2 x=3% ulygol A5 ko g F47t ohic,
@ x=39 1 y kol A FOBR P47} ohic,
®x=39 1 y o] S FOBE P47} ohic,

@ x =19 1) y gho] A OB T4} opic,




F(x) =3x -1 °f|A]
@ f0)=3x0-1=-1

@7(3)=3xG)-1=1-1=0
®f(1)=3x1-1=2
@f(-1)=3x(-1)-1=-4

® f(2)=3%x2-1=5
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fA)=2x4-1=7
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12-(1-x) =42+ x)
12-1+x=4x+8
3x =3

Lx=1




10. 344 gx— g =0.7(x-2) o = FshH?
@_1 @ -2 ® -3 @ -4

® —=

¥ 10 & FotH
15x -6 = 7(x - 2)
15x -6 =Tx—14
8x = -8

Lx=-1




